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——2C,H,0, »+2H,0

_lx(CzHSOH +30,,,y—>2C0, \+3H,0 , AH. =-1368__19k.1.mor1)

(0) " ~72(2) e

C6H1206(5)+303(g)_>C2H50H(()+4C02( )+3H2O(C) AH;

AH, =AH, +2AH, -AH__, -— 471 +2(- 1165)-(-1368,19)
AH; =-1432.81 kJmol ™!

:55°C e (1) Jelidll il sa -
T

AHy = AH 4 + [ AC,dT
To

AC; = ZCP(Prodnim) = ZC'P(ReacIiﬁi)
ACp = (3CP (H,0,)) +4C(CO,, ) +C (CZHSOH(Q))

—(3(:1, (oz(g))+cp(cﬁH,20qs)))

AC, = (3x(75,29) + 4x (37,45) + (111,46))
—(3%(29,36)+ (14,184 +0,693.T))

AC, =(487.13)—(102.264 +0.693.T)

AC, =384,866—0,693.T
328
AH,,, =-1432.81+ [ (384.866—0.693.T)dT

208
’

AH,,; =—1432.81+| 384.866.T|os —
'\

AH,,, =—1432,81+ 384 866.T[...

ng 0,693 0.693 1,

] 15
208

~0,3465.T° )xlo-3

328

AH,,, = —1432,31+(334, 866 x(30)—0.3465 x (3287 — 298 ))><10‘3
AH,,, =—1427,77 kJ.mol™
il el gl (mes JS3 il alay) -3
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AH, =2 AH b auite) ~2- AHe (produits)

AH,=(2AH (H,0,, )+2AH; (C;H,0, ) )-(AH (CH,,04))
o 1 o o o

AH¢(C;H,0;,))= E(ﬁﬂz'MHfmzo(f}}“AHf(ClanOﬁ(s)))
. 1

AH, (C3H403(,)):5( - 471- 2%(-286)+(-1273))

AH,(C;H,0,)= - 586 kJ.mol’

s ld g yull gmaa u"AHd(c _0) ddayl )l S5l s -4
AH C3H,05y)
3Cs +2H;, 2o 650 P C/
o o 3 ° o
3AH ¢y 2AH, (H-H) EAHd(O=O) _AHo“p
V4
HyC—C—C{
3Cq +4H , +30, AH . 8 (gOH
f pyruvique () — =3AH (sub)(c)+2AHd @-m T AHd (0=0) ‘|‘AH-‘AH“p

AH =—38H _gg) ~28Hy ()~ 2AHy (co0) ~AHy (c_0) ~AHy (0n)

AH=—3x413—2x348—2AHd (C=0) —351-463

Aanm‘iqm )

o 3 o o

vap

1 3
AHd(C—O) (3AH(M){C)+2AH‘, (H- H)+2£\.Hd(0 0) —2749-AH,, AHf(Pw(,,]

AH,

1 3
d(c=0) = (3x71?+2x436+2x498 2749-52.4—- (586)}

_ - -1
AHd(C=0) =777.3 kl.mol
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